Quiz 4 MAT 127 Lecture 01

Print your name:

Answer each question completely. You must justify your answers to get credit. Even a correct
answer with no justification will get no credits. Each problem is worth 5 points.

1. Find the radius and interval of convergence of the power series Z . Remember to

check the endpoints of the interval.
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2. The power series f(x) = Z — has radius of convergence R = oo. Calculate f(x). (Extra
n!
n=0
question worth no credits: Based on this calculation, can you guess which function the power
series f(x) represents?)
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